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Pseudocode

* For example, for making a cup of tea:

Organise everything together;
Plug in kettle;

Put teabag in cup:;

Put water into kettle;

Wait for kettle to baoil:

Add water to cup;

Remove teabag with spoon/fork;
Add milk and/or sugar;

Serve;
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Exercises

1. Explain in plain English what a variable is and is not.

2. Explain in plain English what a constant is and is not.

3. Declare an integer variable named dice_roll_sum, designed to hold very large, strictly
positive numbers (please pick the most appropriate data type if more than one type is
possible).

4. Declare an integer variable named quarterly_income, designed to hold both negative
and positive numbers.

5. Initialize a constant named ABSOLUTE_ZERO_TEMP to -273.

6. Initialize four variables: g1_income, q2_income, q3_income and g4_income to 200,
-50, 100 and 0 respectively. Then create a new variable, annual_income, which you set
to equal the sum of all of the above variables. In the end, please also write down the
value of annual_income.

11. Write down the ending value of x.

intx =5;

inty =3;

X=X+5;

X=X-Y;

12. Write down the ending value of z.
int x =10;

inty =3;

intz=4*x+y;
13. Write down the ending value of z.

intx=8/2;

inty =x*2;

intz=(y-x)/x;

X=z*x"y,

14. ADVANCED What mistakes can you find in the code below?
intx=1;

inty =x;

intz=x+y;

Intx=z+x+Yy;

intg=q+x;

11. Explain, in plain English, what string concatenation is.
12. Please write down the ending value of the variable result:

var string a = "The";

var stringb ="";
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var string ¢ = "fantas";

var string d = "tic";

var string e = "4",

varstringresult=a+b+c+d+b+e

13. ADVANCED Please initialize a new string variable named phone_nbr and set its
value to equal “+1 (212) 123 4567” without using any numbers anywhere in your code:
var string country_code = "1"

var string area_code = "212"

var string local_nbr ="123 4567"

.
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Int age = 19;
if(age > 18)
{

doggoemo bsbdgero;
}
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If (CARD is RED)
Award YOUR team 1 point

Else
If ( CARD is higher than 9)
Award OTHER team 1 point

Else
Award YOUR team the same
number of points on the card

1ere is the same program in pseudocode:

If (card.color == RED) {
points.yours = points.yours + 1;

}

Else {
If ( card.value > 9) {

points.other = points.other +1;

}

Else {
points.yours = points.yours + card.value;

}

33 dsgsenoools gsohiggs.

® 53 Jdadmomols 9390 aowsfgme. Else if (...) 10 o
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358 sem0msw:

intx=13;
inty=35;

X+=2;
y+=x;
if(x ==10)
{
Print (“Yes”);

}
Else
{

Print(“No”);
}

2 Gogbgl dmols dsgflsodydols Jmgbs:

ifF (X = ¥) max
else max

nn
-
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#include <iostream:
#include <conio>»

int maximum (int,int,int);

main()

1

int a,b;c:

cout<<"Enter Three Integers: “;
cin»>as>rbr>c;

cout<<"Maximum is: "<<mawximum(a,b,c)<<endl;
getch();

return @;
i
maximum (int a,int b,int c)
i
ifl{axb)
{
if(a»c)
{ cout<<a;
1
elsif(b>a)
{
if(b:c)
i
cout<<b;
}
T
elsif{crb)
{
if(cra)
&
cout<<c;
}
3
i
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#include <iostream:
#include <conio>»

int maximum (int,int,int);

main()

1

int a,b;c:

cout<<"Enter Three Integers: “;
cin»>as>rbr>c;

cout<<"Maximum is: "<<mawximum(a,b,c)<<endl;
getch();

return @;

¥

maximum (int a,int b,int c)
i
if{arb)

by

if(a»c)
{ cout<<a;
1
elsif(b>a)
{
if(b:c)
i
cout<<b;

}

T

elsif{crb)

C if(cra)
{

cout<<c;

}

4. The following if-else statement adds x to a sum of positive numbers and increments a
count of positive numbers if it is positive. Similarly if x is negative it is added to a sum of
negative numbers and a count of negative numbers is incremented.
if (x >=0.0)
{
sumpos += x;
poscount++;

}

else

sumneg += x;
negcount++;

}
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@9dioo 5-6

(babaMdogmos 90 (o)
®  9Mm0 @S 08039 IMIMIMO0L MOTEGbxgMIS 85dgmM9ds (3lgzemzmeols 589ds) ------- 10 fo
dmgogogmm oligomo sdmgsbs, bscsy agofiagl gmmoesogogg ImdMmsmools d996xgth  8539miH90s.

dsgsmomse: gho gamdo sfggos [fogbgdo s dobrs dgmmy yamdo gowsgsersgm. 83 sdmpsbols
glggemgmco

o 53m(dbols 49© 390900 olsg, HMI 303ols g asdmhbegls. 5o

893blbsor gamo. - sdmgomm [fogbo Jofggeowsb Bsgoem dgmigdo - gls FmdMHsmds 8s30d9mMHm Godwgbo
ffog bogss 0wgbxgts. wsgbytim dgmeg yamo

e for (39320l gliggemgmeon hoffgme 53 sdmsobols Jobgegoo. 10 o

gaools gsblibs;
for(sdwgbo fogbogss 0dwgbxg)
{
ffog bols 5dme90s 08 dgmigdo gowsgds;
}
g0l esbymgs;

o for 03eols Lobgaglo (BsfgMols Lgowo), gobo @s amBbowgddo dmdsgnwo bafomols 3 bofomow

©OYMYS 10 fo

for(inti=0; i< 10; i++)

{
}

d9lig9695s 15 for:

e sbowmo sdmzobols gliggemmmols 58900 20 Yo
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dobes Esgmgscrmo Joggeo § Gogbgol xsdo. 965 Bsglighmo gogeols 855930, d9dwgg for-om

Blggemameo 9358m0 @5 39degs for-om gmgo goglgGmn

[ J while Bodqoh 0©9S

Goge2om Bsfgtiols dgmmgbsotio byibo.

Mo
Condition?

Body of loop

e while ;o3ols Lobgodlo

5o

Yo

while (true)

{
if(i < 5)
{

break;

}

e for-om hofgtomo gmeols whiledo ao©dmf9ms

m5059 3903568 godmgfgmma whil-do.

while(true)
{
If (g00 35h0ge05)
{
Break;
}
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IBSGs0ge0;

1. gsdgdmge 1-0s6 40-9rg 43928 49660 Hoybgo.
2.  Esmgsergo 10-esb 100-dweg 5-obs xghswo Hagbggdols xsdo.

3. 2507352900 dmigdeno dorgeno Boibgols goggmdoseo.

6ols sdgdsgl?

inti=0;
while(i < 3)
{
print (“hi”);
i++;

J

inti=0;
while(i < 3)
{
print (“hi”);
i++;

J

}
print(“by”);

Inti=0;
while(i < 0)
{
print (“hi”);
i+

H

intx=3;
inti=0;
while( i < 3)
{

x+=1;
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i+=1;
}
print(x);

inti=23;
while(i < 3)
{
print (i);
i+=1;

}

inti=0;
while(i < 3)
{
print (i);
i++;

for(inti=0;i<35; i++)
{
if(i % 2 == 0)
{
print(i*2);
}
}

int counter = 15;
for(inti=0; i< 6; i++)
{

counter -=i;

}

print(counter);
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intx=1;
inti=1;
while(i < 5)
{
X*=i;
i++;
}
print(x);

' gogocode
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(babaMdogmos 90 (o)

e 3mbggobgiols owgs, Jsmo LogoMmgds 10 o

83993l 0bgmmdsgos d9bsbsbo. dsgsmomsee gersbols bos Jobs Bsgfgim. s gsthosbggdo sGlgdomdl?

993mgogsbma 0degbogy 9o Godwgbo dmlffsgagys.. gl Imybgmbydgaos Hogmad?
e gm0l Lodgomgoom s3blbsm gHmowsogogg godols dslogo. 10 o

3300mm 08wgbo yimo Gsdwgbo dmlbffsgergy dgsgl. Boghgmmar dskdo Lsbgergdo. bbgswslibgs goidg
3s888emomgdo

o yym9dols 4o@sbmdmgs. dologols 0begdligoo. dslogols 8mds. dsliogowsb mdogdgols

SIm@gdS 1
0 fo

b399m308 offggds 0-001. Jofiggemo mdoggdeo ofbgds 0 yamdo. dmedm gangdgbgo afbgds 8mdsl - 1 -9
0bezglby.

e 3slogdo 0bgmmdszools dgbobgs s Sdmegos 10
fo

fobslifsth bes gogmmgo Bs 8mdols dsbogl 38390900, Hmd 8odmggma Jgblioghgds.
99998 Bsgfatima obgm array[0] = “Tamuna’; s s.d Bsdmgfgmma ggges bobgwo

@8 sdmgowmoa obgm print(array[0]);

& Mmam® Imgod390 98MM MmIgodscMo MHmI asgbsemo hggbo 3“3'30(*)60? Hmamm dgdodemos

doliogols yggemo mdogdgols 5Im@gos. sdwgbo fgmols 606383? 5
fo

(O3RN 33R3II3)

I9lsiggbgds 15 for:
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e {0bs ogdmomo aowsgligmo (s03mom gbobmm Modwgb badls eogdmasgo. =---------- 10 fo

for(inti = 0; i <5; i++)
{
print (arrayl[i]);

®  a3543ls Moggools Jskogo. Hmammd godmgmm 80;11308380? 80503380? mﬁ)oga? ----------- 15 fo

public class HelloWorld {
public static void main(String[] args) {
int numbers[] = new int[]{8, 2,7, 1, 4, 9, 5};
int s = numbers[0];
int | = numbers[0];

for(int i = 1; i< numbers.length; i++) {
if(numbersl[i] > I)] = numbers[i];
else if (numbers[i] < s)s = numbersli];
}
System.out.printin("Largest Numberis : " + I);
System.out.printin("Smallest Number is : " + s);

o 253535bgo@mmm yamoemgds 0begdlgdols b39Mo008g. For-do size-dwg 1bws
dogowgm 5 Vm

for(inti = 0; i < array.size(); i++)

{
print (arrayl[i]);
}
for(inti = 0; i <= array.size() -1; i++)
{
print (arrayl[i]);
}

o ©339Mmm dogsmomo: dologdo Im;9dgwo agodsls 20 Mobgo (56 s6rols (5029090
BMEIEMIN0 IO 907m0) @S @a3dgdemm Fbmmme 3ol XgMOEYdO ~=mm-m=mm-m--m- 15 {o

for(int i = 0; i < 20; i++)
{
if(array[i] % 3 == 0)
{
print(arrayf[i]);
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@s389dma dsbogols ggges gengdgbgo.

©53893ma dslogols 9em939bggd0wsh Fbmeme cgffo MHogbggdo
@s3893ma dsbogols gen9dgbggdorsh dbmerme 3ol xgMHowgdo
@3gf9mmo dslogols gemgdgbggools xsdo

godmgmo dsbogdo dsglodseanmo bodgbgermds s wsgdgdemon.
godmgmoa dslbogdo dobodseagio Jbodgbgermds s ©sgdgdema
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